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i3'fu INSTRUCTIONS

\ 1. ~ ~ -q;f "*" fu mlf t 3lR ~ n~ CflT ~ OMR ~ 9,f?<1ChI # t.:rr-g- I mlf 'en'
1TfUhr t ~ 40 ~ t 3lR n~ ~3l'q:; CflTt I mlf '"{Sf' *1141'"'4 ~ 3lR smr '<T' 'l1Tf:IT t I 'mlT
'"{Sf' 3lR 'If' ~ "*" ~ 4 ~ t 3lR ~ ~ ~ 3l'q:; CflT-g- I mlf 'If' m1IT fcmW t 3lR ¥ st 'l1Tf:IT
"*"~~~\ifRT-g- I

This question paper contains THREE sections and you have to answer all questions in the OMR answer
sheet. Section "A" Mathematics contains 50 questions of 3 marks each, Section "8" GK and" C"
Language contain 25 questions of 2 marks each respectively. Section C is Language specific and is to
be attempted in the chosen language.

2. ~~CflT~~OO~tl ~~cfl~cfl~~~U~~3llH~* ~ ~ "ChTt;r *" 'mT "ffi" 3lTQ"CflT~ l"fffif l1RT ~.
There is only one correct answer for each question. Darken only one bubble for each question. If you
darken more than one bubble, your answer will be treated as wrong.

3. *"Q!1 3m ~ gf?<1ChI (OMR answer sheet) Cf'i'L1{c{ cfl am ~ ~ I ~ W fcil
~ ~ gf?<1ChI "*" ~ ~ ~ f.twR -;:r~ 3lR ~ ~ gf?<1ChI "ChTmt m m, 3PmT ~ ~

m~1
Evaluation of OMR answer sheet will be done on computer. Be careful and ensure no unnecessary
marks on the OMR sheet and do not fold or attempt to deface the OMR answer sheet, otherwise it will
not be evaluated.

4. "Wl "Cf1T<f ~ -q;f cfl m~ "RlT ~ ~ "*" tt Cflt, -;:rcfit ~ 9, f?<1Chi "*" I
Rough work must be done on the additional sheet provided in the question paper only and NOT on OMR
answer sheet.

5. 3llRT ~ cnrm <IT -;:flc;ft" BTItr ~ t;r * tt 'l=!t I ~ Cff ~ -;:rCflt I

Write your answers in Blue/Black ink only. Do not use pencil.

6. cncIT.LJY"ChT fiWrr Cfi"{, ~ l1v.1 ~ # ¥ ~~LJY t I
There are total 22 pages in the question paper.
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31TdT'qi'mutn

SECTION A - MATHEMATICS

1. ~ 10 ~l!CFq;m-q;)- 4 ~~ CR"~6err 5 ~~crtrq;m-Ch{qlcA ~~~~
~ ~ 3nCf~~ Wfr?~
If 10 men can do a piece of work in 4 days then how many men will be required to get
the same work done in 5 days?

(A) 12 (8) 6 (C) 8 (0) 10

2. tt{~Ch<i Cht: v289 + v144 - ...)225
c

Simplify: ...)289 + ...)144 - ...)225

(A) 15 (8) 17 (C) 18 (0) 14

3. l!CFcrar3ct<lICii ChI"f4;CiiI{1560~61 ~10~ ~ 12m~~~ ~~

CflN ~ CRIT Wfr ?~
Side of a square garden is 560 m. What is the cost of fencing it at the rate of Rs 12 for
10 m?
(A) Rs 2500 (8) Rs 2688 (C) Rs 3000 (0) Rs 4000

4. ~~~, ~~516, 3"i1(jllh(>l1663ffi~N276err~~rfch<iCiiI 6?

In a division sum, if the divisor is 51, quotient is 16 and the remainder is 27 then the
dividend is

(A) 843 (8) 483 (C) 94 (0) 1393

5. cfra:r~Sfi"J1~r: 12, 15 3tR 18 ~~ ~tR~61 ~am(1: 08:35 ~lTcfi~

~ ~R\ CF«fr 6 err a fcRr ~ ~ ~ lTcfi~ ~ ?~
Three bells ring at intervals of 12, 15 and 18 seconds respectively. If they start ringing
together at 08:35 AM then at what time will they ring together again at the earliest?

(A) 08:38 AM (8) 08:40 AM (C) 08:41 AM (0) 08:45 AM

6. 'H{JiCh<""lcR- 10-2~x3+3~ -7-.2~c..

Simplify 10 - 2::' x 3 + 3 ~ -7-2::'
3 4 2

(A) 2::' (8) 4~ (C) 1~ (0) 1~
4 2 2 4

7. ~~~, 4320 mm~~2300 <.'1\'$Fchtli~I ~q <.'1\'$Fchti"jqft~cpf ~~~I
In a college, out of 4320 students, 2300 are girls. Find the ratio of number of boys to the
number of girls.

(A) 115:101 (8) 101:100 (C) 115:111 (0) 101:115
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3l:t?tlJOliCf1/Roll No. _

8. ~ ffitt ~ ~ ~ fGffi 10 , 12 , 15 q 20 ~ fq'l-fTfGrcrcpR 1:R~ ~ "il slitS! Q5<:1 4 -3ffiIT ~ I

Find the smallest number. which when divided by 10,12,15,20 leaves remainder 4 in
each case.

(A) 64 (B) 100 (C) 75 (0) 40

9. ~ ~ 3.32 fcpJ:fi~ ~ ~ ~ \JfTCft~ I ~ 10 ~ ~ tqf.i ~ ~ I tqf.i Cf'irITa ~ ~ I
(A) 332~/~ (B) 3320~/~
(C) 33.2~/~ (0) 3300~/~

A bullet is fired at a distance of 3.32 km away from Ajay. He hears the sound 10 seconds
later. Find the speed of the sound.
(A) 332 m/s (B) 3320m/s (C) 33.2m/s (0) 3300m/s

10. ~ Cf>R 20 ~ / ~ Cf'irITa ~ ~ ~ I fc)?1:fi/ UcT"il \ro Cf>R Cf'i TTfClCFIT~?
(A) 72 fcpJ::fi/ UcT (B) 80 fcpJ::fi/ UcT (C) 75 fcpJ::fi/ UcT (0) 78 fc)?1:fi/ tfcr

A car travels at a speed of 20 m/s. What is its speed in km/h?
(A) 72 km/h (B) 80 km/h (C) 75 km/h (0) 78 km/h

11. cft;:r~ 4,5, JfR8 ~if?~1:R~~1 ~~~~~m~~~'lfcp«ft~err4

ftRc if? ~ ~ fcPcRt ~ ~ mZf~?

(A) 7 em- (B) 4 em- (C) 6 em- (0) 5 em-

Three clocks ring at the time intervals of 4 see, 5 sec and 8 sec respectively. If they ring
together at 10 AM then how many times will they ring together within the time span of 4
minutes?

(A) 7 times (B) 4 times (C) 6 times (0) 5 times

12. 49:68 if? ~ if? ~ Jfcp"il CFIT ~"GfRT~, cnfcp<:fQ3: 4 m~?
What must be added to each term of the ratio 49:68, so that it becomes 3:4?
(A) 4 (B) 8 (C) 2 (0) 0

13. ~ A em 35%,48 em% + 62 if?~~, errA emlffi~~1
If 35% of A = % of 48 + 62, then find the value of A.
(A) 280 (B) 240 (C) 260 (0) 250

14. ~~~~ ~ 96"il~4 %~~q?«fT~ 1\Rl<:fQ~fcPcR~"il~ ~
CTIfct;"\Rl20 % em"ffi'lf m?

By selling a bed sheet for ~ 96 a man loses 4%. For what amount should he sell it so
as to gain 20%?
(A) ~116 (B) ~119.20 (C) ~120 (0) ~110

15. 4 ~ Cf'i ~ JmJ 7 qtf ~ I ~ liTGTCf'i \31J cP) :mfTm fcp<:rr\JfT(ff~, err ~ 6 ~ ~ \JfT(ff ~ I
lffiiT Cf'i JmJ :mer ~ I
(A) 40 ~ (B) 38 qtf (C) 36 qtf (0) 37 CflIf
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3lj)%4iChiRoli No. _

The average age of 4 sisters is 7 years. If the age of mother is included, the average is
increased by 6 years. Find the age of the mother.
(A) 40 years (8) 38 years (C) 36 years (0) 37 years

16. ~~~ f41(1I~ Cf1T 1/8th -ere ~ 6 3tR Cf6 qffl- ~ cfI ~ f41(1I~ qq; ~ 6,
~ ~ 174 -ere ~ ~N ~ err qn:IT cfIT ¥" ~ CR:rr ~
Renuka reads 1/8th pages of a book every day and she has read the book for 5 days. If
she has still 174 pages to read, the total numbers of pages is:-
(A) 464 (8) 290 (C) 446 (0) 664

17. 3 { ( 12 14 ) ( 7 10 ) } '"- x - - - -+- - + - CfiT ~ wnrl
4 5 10 8 16 "

. 3 { ( 12 14 ) ( 7 10 ) }What IS the value of - x - - - -+- - + -
4· 5 10 8 16

(A) 7/8 (8) 4/8 (C) 4/10 (0) 7/10

18. 3t£"ICh)OI cfI 2/5 31m * f41(1o-;', ~ M ~I~
How many degrees are there in 2/5 of a straight angle?
(A) 45° (8) 80° (C) 72° (0)

19. ~ mr tfffi cnt-
Find the missing number

(8) 14 (C) 11 (0) 13(A)

20.
~ 311 4 ("lIChI{ ahr ~ ~ 480 ~ ~ ~ ~ ~ ~ c):; ~ ChT ~ 5: 3

~I ~ ChT ~~Qlc>i ~ cQG1Q I

(A) 13500 'CJ'dl~

(e) 14200 Cf<IT~

(B) 12800 Cf<IT~

(D) 11500 cr-t ~

The perimeter of rectangular field is 480 m and the ratio between the length and breadth
is 5:3. Find the area of the rectangle.
(A) 13500 m2 (8) 12800 m2 (C) 14200 m2 (0) 11500 m2

21 . ~ <hTIR>l ffi1(1 *~Cf11o:r m q;)ur ~ t?
"Which of the following pair of angles is supplementary?

(A) 46° and 44° (8) 113° and 67°
(C) 245° and 115° (0) 90° and 180°
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3lj)'hJ4iChiRoliNo. _

22. ~ t1 ~TSfiCfR"Cf1T ~ 01 :15 ~ ~C\{I~IC\ * {CfI01TM 63-tR ~I~ql{ ~ 07:30 ~ ~~ ~
q6itc1~ 6"1 ~ <mrr~ ~ Pch(iafl ~ ?

~
(A) 18 tit 30 ~ .

(C) 18 tit 15 ~

(8)

(0)

17tit45~
17tit15~

A train leaves Hyderabad at 01:15 PM on Friday and reaches Chennai at 07:30 AM on
Saturday. The duration of the journey is __
(A) 18 hrs 30 min (8) 17 hrs 45 min
(C) 18 hrs 15 min (0) 17 hrs 15 min

23. ~k1Fc>lffil(i ~ * m m ~ mer 3f~r 6
Which of the following is the smallest fraction?

2 4 7 6- - - -5 J 5 J 5 J 5

(A)
4

(8)
6

(C)
7

(0)
2- - - -

5 5 5 5

24. ~ .m<:I(1 CIiT ~ ~'Hcfi'l ~ 4ab 3-tR ~ 6ab 6 __
Area of a rectangle whose length is 4ab and breadth is 6ab is __
(A) 24ab (8) 24ab2 (C) 24a2 b2 (0) 24ab4

25. ~ ~ ~ lJCI1 Cf(=(i'~ ~ ~ 6 ~'Hcfi'l 3i i(i~Ch mtU 352 ~ 6 3-tR ~ mtU 396 ~c.

61 ~~~f4;(io1~ ~?

(A) 5 ~ (8) 6 ~ (C) 8 ~ (0) 7 ~

A race track is in the form of a circle whose inner circumference is 352 m and the outer
circumference is 396 m. The width of the track is
(A) 5m (8) 6m (C) 8m (0) 7m

26. ~~aJllldlcpl{ ~~{)cHI~~~*lcpl ~ 84 ~ipcrf~ip~ml ~
31llldlCf5l{ ~ctt~ 144 ~t ill aJllldlCf5l{ ~ctt~CftIT~?
(A) 40~ (8) 49~ (C) 80~ (0) 79~

Dinesh wants to buy a rectangular plot whose area is the same as that of a square plot
of side 84 m. If the length of the rectangular plot is 144 m, then find the breadth of the
rectangular plot
(A) 40 m (8) 49 m (C) 80 m (0) 79 m

27. ~ 30~tR'~ctt~~, 6 ~ffiIT, 5 ~~JfR3 ~~~~~cttffi1ffi ~
~I
Find the cost of digging a pit 6 m long, 5 m broad and 3 m deep at the rate of
~ 30 per m3

(A) ~ 2700 (8) ~ 3000 (C) ~ 3500 (0) ~ 3200
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3lj?h~iCh/Roll No. _

28. ~ "QCfiJ1~fr;;:r me24 fcf;(;:t'IJOt~c{ ~ tit ~ "dl"fci ~6 3fR "QCfi~ me 14 fch(>l~JOt'>IC{

~ tit ~ "dl"fci ~ ~ 6 ill ~ tit H err cJan me fcf;<iCT11~ (l<:f CfitaT?
(A) 266 fcf;(>l)JOt~c{ (B) 38 fcf;(>l)JOt~c{

(C) 122 fcf;<>fIJOt~c{ (0) 626 fcf;(>l)JOt~c{

If a Machine boat travels at a speed of 24 km/hr and a Long Tail boat travels at a speed
of 14 km/hr, what would be the total distance travelled by both boats in seven hours?
(A) 266 km (B) 38 km (C) 122 km (0) 626 km

29. W cnt=r m crllCT1<iJi ~ * Cf1T ~ ~ ~ 653*47 ~ 11 ~ ~ ~ ~ 1
" "What least value should be given to * so that the number 653*47 is divisible by 11?

(A) 8 (B) 1 (C) 4 (0) 3

30. fclcrt~<il I)lklRCT1 250 fJ:l~<>l)C{ ~ tfr<fr 6 3ffi ~ qftcll{ ~ M flClfll fclcrt'>I<i1~ ¥'"
~ ~ ~ 61 lf1{q{1 2016 H ~ qftql{ ~ ~ ¥'" ~ ~ ~CRIT 61
(A) 21.75 ~ (B) 21 ~ (C) 22.50 ~ (0) 23 ~

Vineeta drinks 250 ml milk every day. The rest of her family members drink a total of
twice the amount of milk that Vineeta drinks. The total quantity of milk consumed by the
family during the month of February 2016 is :-
(A) 21.75 L (B) 21 L (C) 22.50 L (0) 23 L

31. ~Sf1J1~ ~~~ch'1Fvh! 2,4,3,9,4,16,5,25,6,36,7,_

Find the next number in the following sequence 2,4, 3, 9,4, 16, 5, 25, 6, 36, 7,

(A) 8 (B) 49 (C) 37 (0) 48

32. ~ ~I Simplify: 2 + ~ + _2_ =
10 100

(A) 2.004 (B) 2.22 (C) 4.2 (0) 6.4

33. "QCfi~ H"QCfi ~ ~ d)?; ~ 6, "QCfi~ ~ trr ~ 6 3ffi ~~ ~ d)c;"61~ H q;c;r..,
15 ~iit61 ~*~iicJ~~~cfilQQ I
In a bag one-fifth of the balls are black, one-third are red and remaining are blue balls.
There are 15 dozen balls in the bag. Find the number of black balls in the bag

(A) 34 (B) 35 (C) 39 (0) 36

34. "QCf) "{9T;f-q 2356 em 54 ~ lJUTTm m- ~ 4 5 ~ lJUTT f¢<:rr I ~ \3"W cpI WRT -A'\W<m \3"W fcPcRr
Cf)li'l.fT?
A student multiplied 2356 by 45 instead of multiplying by 54. By how much was his
answer less than the correct answer?

(A) 21204 (B) 21200 (C) 20214 (0) 20200
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3lj)?f114iCh/RollNo. _

35. ~qR-: 4~ - 2~ -1~
10 4 5

Simplify: 4~ - 2 ~ - 1 ~
10 4 5

(A)
3

23
(8)

20
23 CC) 7

20 CD) 3

20

312A man bought kg sugar from one shop and - kg from another shop. He used -kg423
sugar. How much sugar is left with him?

8 23
(A) 12 kg (8) 24 kg (C) 7-kg12 CD) 5-kg

24

37. cJ~,*cPpfm 5283759~1 ~~~ 2354281~, mcJ~,*Bq<:ff-*R~?
Sum of two numbers is 5283759. If one number is 2354281, what is the difference
between two numbers?

(A) 578193 (8) 515137 (C) 575000 (0) 575197

38. ~9063B9C1?T~l1R~~1
Find the place value of 9 in the number 9063.

(A) 1000 (8) 90 (C) 900 (0)9000

39. 1ZCP~~~~200000t ~40%~~, 30%Affi(1IQ~JfR~~~I~~
~~~I
Population of a town is 200000, in which 40% are males, 30% are females and the rest
are children. Find the number of children.

(A) 70000 (8) 60000 (C) 65000 (0) 100000

40. lfCP~~CI?T~ ~ 180~JfR8 ~Q?T~ ~ 56~1 ~CI?"el1i~~ q~ ~ ~
~CI?T~~~I
Cost of a dozen pen is ~ 180 and cost of 8 pencils is ~ 56. Find the ratio of the cost of a
pen to the cost of a pencil.

(A) 15:7 (8) 7:15 (C) 1:1 (0) 8:15

41. lRfr rntr ~ Cfi'ta:r ~ ~ ~ 35, 36, 72 JtR 80 ~ ~ ~ tR "R" GfR ~ftsr 1

~~I
Find the smallest number which when divided by 35, 36, 72 and 80 leaves a remainder 1
in each case.

(A) 4150 (8) 5140 (C) 5410 (0) 5041
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3lj'fiJOiiCh/RollNo. _

42. 10 ~ ~ 3-tR 8 ~ ~ q)~T CfiT qq:qlf CROt c);- ~ 20 ;Ht'l<H~c{ ~ 3-tR 10
;Ht'l<H~c{ ~ f4;(ioi~ ~ ~ ~ ~?
How many tiles of 20 cm long and 10 cm wide will be required to pave a floor which is 10
m long and 8 m wide?
(A) 4000 (8) 3500 (C) 5000 (0) 4500

43. 110 ~ ~ ~ ~ 60 f4;(>l~<H~c{~ tit * ~ ~J -ch=ft ~ 70 ~ ~

C<'!clhiA CfiT tffi" CROt * fch(iCrlI ~ ~?

(A) 18.1 ~ (8) 18.0 ~ (C) 10.8 f)\'410s (0) 10.6 ~

How long will a train which is 110m long travelling at 60 km/hr take to pass through a
station whose platform is 70 m long?
(A) 18.1 seconds (8) 18.0 seconds
(C) 10.8 seconds (0) 10.6 seconds

44. "CTCfi c;q:("1"{" * CfiTcJ1CROt ~ ~ 3-tR 3-fR<:ITCfiT 3-fCT1"ClT(i" 4:3 t ~ ~ * 360.:>

~ 6 <iT c;q:("1"{" * ~ 3-tR Cfi(>f RfQi" ~ ~ tJC1T cR I.:>
The ratio of number of men and women in an office is 4:3. If there are 360 women in the
office, find the number of men and total employees.
(A) 480,840 (8) 840,480 (C) 408,840 (0) 480,804

45. ~ 12 ~ 3-tR 18 ~ "CTCfi ~ CfiT 7 ~ * ~ 6 <iT :mr ~ CfiT ~ c);-
~ 4 ~ 3-tR 8 ~ f4;(iCrlI ~ ~ I
(A) 10 ~ (8) 13 ~ (C) 9~ (0) 14 ~

If 12 men or 18 women can reap a field in 7 days. In what time can 4 men and 8 women
reap the same field?
(A) 10 days (8) 13 days (C) 9 days (0) 14 days

46. "CTCfi ~jq:;GWI4i'I ~ ~ 21 ~ 3-tR ~ .3-TTUR CfiT ~ 24 ~ t ~ Cfi(>f ~ CfiT.:> .:>

~~

(A) 1244.57 cr<Jt ~ (8) 1243.57 cr<Jt ~
(C) 1242.57 cr<Jt ~ (0) 1241.57 cr<Jt ~

The total surface area of a cone having its slant height 21 m and diameter of its base as
24m is
(A) 1244.57 sq m (8) 1243.57 sq m
(C) 1242.57sqm (0) 1241.57sqm

47. "CTCfi ~ CfiT"CTCfi ~ 6 M ~ CfiT t 3-tR <l6 ~.*4 M ~~ q{" t I Cf<14l'1" ~
~ 4i'IGH!
(A) 3 ;Ht'lJOflc{ (8) 4 ;Ht'l<H~n (C) 5 ;Ht'l<H'k{ (0) 6 ;Ht'l<H~6(
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3lj)'I'l~iCfl/Roll No. _ Set B

A chord of a Circle is of length 6 em and it is at a distance of 4 cm from the centre. Find
the radius of the circle
(A) 3 cm . (B) 4 cm (C) 5 cm (D) 6 cm

48. <rt?;~~q;rlJCfi~64 terr~q;r 3ITtIT~ cfh~Q I
If one-third of a number is 64 then find half of the number.
(A) 96 (B) 84 (C) 86 (D) 100

49. cJ~3ITq;r<mT2490tl <rt?;lJCfi~q;r6.5% ¢~ ct-8.5%ct-~t, err

~3IT q;r qc:rr <>Jdm! I

The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other,
then find the numbers
(A) 1411,1079 (B) 1011,1479 (C) 1100,1749 (D) 1010,1947

50. ~~*~~6~%~~ct-~~tR~ ~ I
(A) 13 ~ (B) 14 ~ (C) 15 ~ (D) 16 ~

In what time will a sum of money double itself at 6~% per annum on simple interest?
4

(A) 13 years (B) 14 years (C) 15 years (D) 16 years

mdT '{5f' fi ICHIcrll ~

SECTION B - GENERAL KNOWLEDGE

51. 'l.fffif ~ ~W ltfi ctfR ~?
Who is the Defence Minister of India?
(A) Smt. Sushma Swaraj/ ~ ~ ~
(B) Smt. Aruna Roy / ~ ~ ~
(C) Sri. Arun Jaitley/ l3fi -3R>UT ~
(D) Smt. Nirmala Sitaraman ~ f.n::fffi 'tftC1I'UFi

f.i ~ ~ R9C1-R~ ctfR rn 0fccrr<:R ~ cpr %7
Which of the following is the study of birds?
(A) Ornithology/~~ (B)
(C) Ophthalmology/ ~ ~ (D)

Oncology /JiI<¢le=(r~
Archaeology/ lj~IC1CCl

52.

53. ~-R~~LJzcft-Rft;fJfRXR1~~~WR~
Which of the following day does the earth experience equal day and night?
(A) 21 June /21 \3ff (B) 23 September /23 t-iffl'r::C1i-=·~T"T~

(C) 22 December/ 22 rafi~~ (D) 25 March /25 ~

9



3lj)'h~iCfl/Roll No. _ Set B

54. 1~1I(ISRO)~1J~<lR~CfWf)~~~?
Where does ISRO develop its Launch Vehicles?
(A) Satish Dhawan Space Centre at Sriharikota / ~ tRFf ~~ ~, ~ ~
(B) Vikram Sarabhai Space Centre at Thiruvananthapuram / fcrwl1 ~~ ~~

~, ~'b(Fklgxl1
(C) ISRO Satellite Centre at Bangaluru / ~ ~e(1l~c ~, (SjJ I~'b
(D) Defence Research and Development Organization, New Delhi RW ~£.IFl JfR

Fcl<tJI*l ~JI6'i, ~~

55. Fa1ChTl~ffiI(1 R * ~ cnf3a:r ~ ~ I
The hardest substance among the following:

(A) tRY diamond (B)

(C) Wfl chalk (D)

aJlhl$c graphite

-man- gold

56. m~ cf;-qa:fr ~ Fa1Jll 0 I * ~ o=rtT f;"?

(A) CJCT (B) ~ (C) ~ (D) G~'Qkl

Which of the following company is not associated with manufacturing of vehicles?
(A) Tata (B) Mahindra (C) Raymond (0) Toyota

57. ~ CfiT ~ ~ ~ CH$IflIJI{ m {IT 6 -
(A) q~na=<1 CH$I'HIJI{ (B)

(C) ~ CH$I'HIJI{ (D)

3ilchR:Cfi CH$IflIJI{

31c<>liR:Cfi CH$FHIJI{

The second biggest ocean of the world is
(A) Pacific Ocean (B) Arctic Ocean
(C) Indian Ocean (D) Atlantic Ocean

58. '~ Sfiifc11fcR:Rr ~ 6?.:>.

(A) ~~ (B) q:;flt
c,

(C) t~m~ CfiT ~ (D) m:lCHCf'&~ ~.:>

I Blue revolution' is associated with
(A) Aquaculture (B) Agriculture (C) Sericulture (D) Apiculture

59. m {IT ~~ (CH~f8'Ql cF ~~' cF o:m:r * "3flO1T ~ f;"?

(A) ~ (B) cmlOlfl~ (C) (1•...ci~Cfl~~Oi

Which city is called as "Pearl City of India"?
(A) Jaipur (B) Varanasi (C) Tuticorin

(D)

(D) Mumbai

60. '~fa'i1IOi' cF m R '~ Q{fChl{' ~ ~ ~ 3"i1{ctl'Q CfiT o:m:r ~
.:>

(A) m ~ cfr W1a1 (B)~ ~ ~

(C) W ~ ~~ (D)~ * ~ o=rtT

10



3l:pflJOOliCfl/RoliNo. _ Set B

Who was the first Indian to receive Nobel Prize in Physics?
(A) Sir CV Raman (B) Dr Amartya Sen
(C) SC Sekharan (D) None of these

61.

The first modern Olympic games was held in 1896 at

(A) ~ Berlin

(C) Ua1 Rome

(B) ~ Athens

(D) ~ Paris

62. :trr{C1cf; {1\S~ll t:q-;]f ~ ~ rrar CfiT a=rTJ1 "'i:ISfl" ~ ~ 6"?
Which king's name is linked to the "chakra" in the national flag of India?

(A) llcAQl(>lDharmapala

(C) ~ ~ Rajendra Chola

(B) ~ Akbar

(D) 3f~Jlq:;Ashoka

63. SOIllIClI{I\51($(>IIt>I~IC\)~ "~31 Jt>rr" ~ dt 3"lI<oj)f~(ifcf;<:rr \51l(1T6-
"Kumbh mela" is held once in every at Prayagraj (Allahabad).

(A) cJ ~ two years

(C) ~ W(i1 twelve years

(B) qfq W(i1 five years

(D) ~ ~ ten years

64. ~ if ~ c#R m "&rru~tl\51ip m~~ g3fT %?
Which of the following games is associated with Wimbledon?

(A) HockeylQTcpl
(C) Volley Ball/cfMt~

65. ~ipmip~if~"GfRT\JfRff%?
Who is known as the Lion of Punjab?

(B) Foot Ball/ ~ ~
(D) Tennis/~

(A) Lala Lajpat Rai/"ffiffi tll\Jj4ct nq
(B) Gopal Krishna Gokhalel rfr4"rer WIDT ~
(C) Bal Gangadhar Tilak/ ~ TtrrrtR ~
(D) W C Bannerjee/~m~

66. ~<hT1Qffil(i ~ ~ cFta:r ~ CfiT 3faflT (CT"Ici'iCh{ufi<Ol) m 6"?
Which of the following is renewable source of energy?

(A) Cfl)<Ol(>l1Coal

(C) ~ Diesel

(B)

(D)

~ Sun
"

~ Petrol
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3lj?tliiiCfl/Roli No. _

67. ~~, ~~tl
Solar eclipse occurs __ -_- __
(A) ~ ~, ~ 3ffi" ~ ct Gfrt:rlTcn $fr tID * 3ffiIT t

when the moon comes in between the earth and the sun in a straight line
(B) ~ quft lTcn $fr tID * ~ 3ffi" ~ ct Gfrt:r31Rfr t

c. "
when the earth comes in between the moon and the sun in a straight line

(C) ~ ~ lTcn $fr tID * ~ 3ffi" quft ct Gfrt:r* 3fT(1f t" c.
when the sun comes in between the moon and the earth in a straight line

(0) ~ ~ ~ 3ft" o:r6T
None of the above

68. ~ * lTcn ~ ~ ~ (>lcCh(11 ~3fT ~ ~~TT fe;~TT* .mm=r ~ ct.:> .:>
ftRr 3fT(1f t
A freely suspended magnet in air always comes to rest in direction.
(A) 3"ITR - qcf north-east (B) ~- 3"ITR west-north

"
(C) ~ - ~ east-west (0) 3"ITR - crfa1ur north-south

69. FaiChT1~~(1 *~~ ChT ~:
Find the odd one out from the following:
(A) ~ Milk (B) ~ Curd (C) ,~~ Honey (0) 3lm Mango

70. "~" lhl$6i{ ~ ~ ~ arcr ~I
Synthetic fibers are obtained from _
(A) HlI<:Icrt chemicals

(C) tttm plants

(B)

(0)

~jute
"

~ sheep

71. ~~cpr~~J{rrc#Rm~?
Which is the largest organ in human body?
(A) heart I~
(C) lungs 1 Q?4?-$'j

(B) liver 1ftrR
(0) kidney / 1ffi

12

72. 'l-fR(f cpr '!I ~J IH TTR ~ fcPcRT ~ ~ \;fAT~?
How much time should be taken to sing the National Anthem of India?
(A) 45 Seconds 145 ~ (8) 52 seconds 1 52 ~
(C) 60 Seconds 160 ~ (0) 30 Seconds 130 ~

73. ~'tf cp't~ cpr -qitafUTCf>R ~ ~ f.i;r ~ ~ ~ \3 qCf) '!01 cpr \3 qq'l J I ~ \ifTCn~?
Which of the following instruments is used to test the purity of milk?
(A) Manometer 1 ~ •..jh:ftc~ (8) Barometer / ~;{'I~c~
(C) Seismometer / :B1~'I~c~ (0) Lactometer / ~CRl41c~



3lj)'flJiiCfl/Roll No. --_

74. f.1lJ ~ ~ ~ crrfug em '~ ~ ~ ~' ~ \JI""RfT~?
On which of the following dates is the "Armed Forces Flag Day" celebrated?
(A) 8th October /8 ~ (B) 15th January /15 \jHq~
(C) 4th December / 4 Fa:8ciH (D) 7th December 17 m'ticiH

75. ~ Q1(>f qq:;r ~3fT.........t
..::>

(A) 3f5T~r<r (B) Cla1T/~ (C) ~ cfrr ~(D) ~~

A fruit is a ripened
(A) ovary (B). stem (C) petals (D) none

SECTION C- LANGUAGE
(Only for those attempting English Language)

Re-arrange the following words/groups of words to make meaningful sentences.
Choose the correct sequence in the options

76. A B C 0
came to India / they / months ago / some

(A) DCBA (B) DBCA (C) DACB (D) BCDA

77. A B C 0
"Swachh Bharat Mission" / we / take active part in / should

(A) BOCA (B) BDAC (C) BACD (D) ABCD

Choose the appropriate option to fill in the blanks

78. The meaning of the phrase' To bell the cat' is _
(A) To undertake a difficult job (B)
(C) To chain the cat (D)

To look after the cat
To undertake an easy job

79. Tom is very intelligent.
correct 'Pronoun')
(A) This

____ ambition is to become an IAS officer. (supply the

(B) Their (C) He has (D) His

80. February has the number of days of all the months. (supply the correct
'Adjective')
(A) fewest (B) lesser (C) least (D) shortest

81. He opened the letter with hands. (supply the suitable' Verb')
(A) shiver (B) shivers (C) is shivering (D) shivering

82. Dr APJ Abdul Kalam was born Rameshwaram in Tamil Nadu.
(choose correct "Preposition")
(A) on (8) in (C) at (D) after

13



Set B

83. I tried to hit the nail __ hit my thumb instead. (choose correct "Conjunction")
(A) before (B) but (C) and (0) because

Read the following passage and answer the questions (Question 84 to 88)

Brain size and structure is not an automatic gauge of intelligence, but it can be a clue.
Birds may be small, but they have proportionally large brains compared to their overall body and
head sizes. In fact, birds' brains are similarly proportioned to primates, including apes, monkeys
and humans. Studies of brain anatomy also suggest that while the structure is different than that
of mammals' brains, birds may have a higher degree of connectivity between the sections of
their brains. This could indicate more intelligence and faster reasoning than previously believed ..

We humans are used to thinking that our minds separate us from other animals. But new
studies show that animals are quite intelligent and sensitive. Animal intelligence isn't found
only in mammals. It can be found in other animals, such as birds. Although people call us
'Birdbrains' as an insult, our feathered friends can be very smart. Some can solve puzzles. For
example, Ravens can untie knots. Some birds can use tools. Some crows for example, use twigs
as spears. Some birds can even use our language. An African grey parrot named "Alex" does
more than just imitate human sounds. This parrot can name dozens of objects. It also seems to
understand the ideas of 'same,' 'different' and 'amount.'

Animals are able to feel emotion too. This ability can be painful for them as it is for
humans. For example, some baboons live in groups where the leader controls them through
fear. Low-ranking baboons can live in a constant state of stress. This stress can cause health
problems, just as it does in humans.

84. In this passage, what is being compared between humans and birds?
(A) Language (B) Intelligence (C) Work (0) Emotion

85. Which of the following birds could remove some knots?
(A) Crows (B) Parrots (C) Ravens (0) Sparrows

86. Which type of bird according to the passage, could differentiate between some words
spoken by the humans?

(A) Ravens (B) Parrots (C) Crows (0) All of these

87. What does the author imply by 'Birdbrains'?
(A) Small brain
(C) Unique brain

(B) Smart brain
(0) Emotional brain

88. Birds have more intelligence and faster reasoning due to brains
(A) big size of (B) more connectivity in
(C) large proportion of (0) small size of

89. One who is in-charge of a museum _
(A) Superintendent (B) Warden (C) Curator (0) Supervisor

Choose the appropriate option to fill in the blanks
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3lj)?tliiiCf)/Roll No. Set 8-.,-
90. A person who reads a lot of books or read regularly is called a reader.

(A) voracious (8) bankrupt (C) wealthy (D) noteworthy

91. The gender of 'DUKE' is
(A) duchess (8) dutchies (C) dukess (0) dame

92. Suman was not ready to participate in the competition and she illness.
(A) fained (8) fined (C) find (0) feigned

93. She returned from vacation than I had thought.
(A) quickest (8) quick (C) quicker (0) more quickly

94. Although he is rich, he is unhappy.
(A) so (8) since (C) yet (0) because

95. Akash is senior me.
(A) of (8) to (C) from (0) then

Choose the most appropriate option given against each question.

96. Which word means nearly the same as "admire".
(A) respect (8) approve (C) insult (0) appreciate

97. Which word means nearly the same as 'Whisper'?
(A) the hair on the upper lip (8) to shout at somebody
(C) speak in a low tone (0) a drink

98. Many Princes were crowned on that day, their
(A) Princess (8) Queen (C)

99. Rita is than Swetha.
(A) more intelligent (8)
(C) most intelligent (0)

100. The person who is selected for the job
(A) his (8) him (C)

____ were beside them.
Princesses (0) King

intelligent
intelligencer

______ my classmate.
is (0) were
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3l:!,flJOOtiCh/Roll No. _

f.n1 cnffi / ~ ~ ~ ~ ~ ~ ~Cfl~l-q ~ ~ ~ CfiT%fTCf ~ :

76. ~ ~ ~ \51101(""11 ~..:>

(A) ~ (B) w:rc;~ff (G) fa1'qur (D) d If6'I(""I:n..:>

77. ~~"CfT(1T

(A) (il~(""I1 (B) ~ (G) ~ (D) O1ldlfiCfl

78. ~~mnr~
(A) C;~~ (B) ~ (G) qm;~ff (D) mCfiR"

~ CfTCPf ~ ~ ~ ~ ~ f.h;r Rr~ a !?~ 1~ CfiT'1'1c4Q ff!trcr~ I ~Cfl~41 -q ~ ~ ~

~CfiT~~:

A B G D
79. ~ 1 ~I tRic; 61 ~ ~ m<>IT

..:> "
(A) ABGD (B) DGBA (G) BAGD (D) BADG

A B G D

80. c'llFctCi at I~ I~ ~I ~ ~
"(A) AGDB (B) ABGD (G) BADG (D) DGAB

~~ ~cft~q*ft~UN ~Cfl~q cp)~~'1a ~:

81. (A) qft~c (B) qfu:c (G) ~ (D) ~

82. (A) (B) 3flC.f)T~TT (G) 3flC.f)T1ffi (D) ""3i ICflI 0>1 .3fTCf1RIT

f.n1RrF€ta ~~~~m- ~~G (~) CfiT~cfi)Rl4: (96 & 97)

83. Rddl\51

(A) fe;aT+dT-JT (B) ~+dT-JT (C) ~:+~ (0) ~+dT-JT

84. ~

(A) 3iU+~ (B) 3iU: + dfR1 (C) .m:IT + dfR1 (0) 3f+ mma

85. ,~, ~~ H '>I<llCf(""l ~ 3qtld~ (fclCfl(>,q) cnr ~ ch'l~iI:
..:>

(A) ~ (B) ~ (G) ~ (D) ~..:>
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3lj)'hl4iCfliRolI No. __ - _

86. '3W"' ~~ * SI'llCf("l ~ ~ (fclCfi(>,q) Cf)f ~ ch'If@~:.:>

(A) ~ (8) ~ (C) ~ (0) ~.

87.
(0)

f.h" RIRsiC1dPj)~~ ~ 31"l"aRlR ~ lfl:!; wit ~ ~ ~ (W'J"~ 88 - 92)

m-<T(1T.~ ~~3ffi1 * tr ~ ~~TT * ~ ~ ~ 6"1 ~ ~ ~ ~ ~ ~ 6".:> .:>
~ ~ ~ ~ CfiT<:ifq;)- ~ tIT tffi Cfi{ ~I ~ ~ * \jf{>{(i- ~ cfl cm-uT~ .

~ ~ ~ ~ q;)- ~ ~~ Cfi{ ~,~:m~ ~ * ~ ~ ~ cfl fc;ttr

~ ~ ~I 'tfWfT~CfiTBMTCr~1 GTrftm~~ I ~ m~~ I WPrm~~ath:
~~~~I~~if~B1R~~~lR~ ~~~+fu;IT~~CR:CIT~1
~ ~ ~ Wrff ~ ~ ~ m fcF ffi ~ ~ ~ , l1f1f if 'TIft ~ ~ lR m \Jfffi ~ I fu<ff cfl

~ ~ ~ (l<:f ~ ~ mlmql~fit;~fiCfiT~~~~I~'tfR~ ~~, WR

~ if ~-~ ~ ~ <fit ~ ~ ~ ~ 3lTO -m ~ ~ m~ if ~ ~, ~ 31~ ~ ~
~ ~ m 3fR q Ic>!ch'I~ ~ "CfT"c>tT cfl ~ ~ ~ q:;fuo:r m I q I~ fit;<l'i CfiT~ fu<ff 3fR

.:>

~~ ~~\lfTC1T ~ I ~~ 31FcllSCflI<~~CfiT~~~~ 1~ 3lfCIlSCfll<~~

~~~lltl g:m~wmcr~~~ 1rn-rn~~~l1!<ftrr~ =t:t~~cuJ1 ~llffi£((~lR~
~I

88. '~fCh'HCflI ~ ~ 6?
(A) ~ (8) ~ (C) ~ (0) trrafr

.:>

89. qlc>!fCh41 q;)- ~ "c>tTaT30B ~?

(A) mc=r (8) :me (C) 'tTR" (0) ~

90. q Ic>!fCh4i Cf)f ~ fcfwr cfl fc;ttr mc=rr m?

(A) C &0 (8) mjcflfc;ttr

(C) ~ cfl fc;ttr (0) ~ cfl fc;ttr

91. fch'H41 31fcllSChl{ * ~ Cf)f ~ ~ "d"l<lT?.:>

(A) ~cfl (8) ~c>!JIlf$41 cfl (C) qlc>!fch41 cfl (0) ~~fJa:r cfl

92. '~' ~~ Cf)f fclM1 CH ~~ 6" -----------.:>

(A) ~ (8) ~ (C) ~ (0) ~

17



3ii$hJOiiCfl/Roll No. Set 8

~ ~ ~ anit ~ ~ f4Cfllrq"'j #" U ~ ~ ¥:

93. ~rl~~CH~ 3TJ1T ••.•.•.....••.•• m-~ I

(A) -qr;ft- (8) ~ (C) ~ (0) ~

94. ~ ~ ~ ~ m ~l&G 't:T0R' ~l&G Cf1T q:m ~ClI"t.n ~ ~"?

(A) ~ (8) ~ (C) 3W=t (0) .qrsrrur
"

95. '~ ~l&G Cf1T fa (>I~IF! ~ ~ :

(A) ~ (8) ~ (C) ~ (0) ~

96. 'Cfi'l<:R ' ~TiG CfiT fa <>fI CH ~ ~:
(A) ~ (8) ~ (C) CTiIR=<""I Cfl (0) cfR..:>

~ ~ ~~lq<1 ~ ~ aN ~ ~ fclCfllrlj eft ~~<iCl cR:

. .
97. 3fdT - 3fdT CHfCh ICTiI..:>

(A) ~~ (8) ~ IF!ICTiCTiI
"(C) ~~~T~ (0) ~~..:> ..:>

98. C1~rfu:n ma:rr
(A) ~ (8) ~ (C) ~ (0) ~

f.hf RI~ CI ~ ~ ~ ~ fcl q () ClI4Cfl !?~ (~) 'liT ~. cfi1 ~ ~:

99. ~

(A) 3iClhflCTi (8) (C) (0)~ CT1<lT CTi~lqCTi

100. ~
(A) WTUT (8) ~ (C) ~ (0) ~..:>

•••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••

ROUGH WORK
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